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But XaR "1 said a mourner is obligated in all the commandments, etc.

OVERVIEW

»aK explained the reason a jnm is MWD from w"p on naw 9°% (if he was not 2°¥2 yet)
is because he is stressed since he cannot be 7°¥2. X271 challenged *ax; stress does
not free one from his obligations to observe the m¥n, as Xaxk " ruled that an 2R
(who 1is stressed) is (nevertheless) obligated in all the mx»n. Our MdoIN explains
why 2K rejects the comparison to an 72X.
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And 28 maintains that by a stress where there is no 3% at all (as by an %2R),
there is an obligation to observe all the mz» -
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However the X7 that he is not permitted to be %2 is considered a X77°v on
account of a mxn, since he is stressed by the fact that he cannot perform the
YRR of 1271 19, and for such a X77°0 one may be exempted from observing the nxn.?

SUMMARY
»aK differentiates between a personal stress (such as by an 9ax), and a stress of not
being able to perform a mxn.

THINKING IT OVER

What is the difference between the 101 who (according to '0In) is Mwe from w"p
since he is 717V that he cannot be o>pn a mxn,* and a person who is 717V on NaWw
since he cannot put on 1"2°5n; would that exempt him from reciting w"p on naw?!’

! The stress of an 73x (once his relative has been buried) is of a personal nature; he is not prevented from doing n¥n
(as in the case of the jnm).

2 See ‘Thinking it over’.

3 This may be similar to the case of m¥»: 1 MWD M¥Na poW:; here too this stress of not being able to be 2»pn a MEn
is considered (somewhat) as an 71¥n1 poOW.

4 See footnote # 2.

3 See 1o MK 7"0.
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